—REZEVOLEBICEHT HERICRSTHRIAR MRS

[

H $M3F4A8 1 H
SM4£3H31H

|

(BHXFE3IS]

[(BEER] (B : FH)
1. B[R
(1) A4E 0
(2) MHEESE 940, 672
(3) Be&EH 0
& &t 940, 672
2. EEEH
(1) A& 60, 121
(2) MH-&SH 0
(3) BEEM 108, 591
(4) TOMEERER 0
& &t 168, 712
® # T i34 a A N a 1,109, 384
B X Lt b ( % ) ‘/’,,,~——””'
[EHE 4]
1. FEANRUFHH
(1) FBEE - O—ILFRFTIA 7,628
(2) BEBAZHFHH 92,810
(3) ZMith 114
a8 &t 100, 552
2. f#BEFERA
(1) BREXHE EEEMBESE) 0
(2) [MEBHEEFITRAHNIEE (LEBERUVHFEERS) 0
(3) ZMith 0
& &t 0
3. 0
(1) BRMFFTHNIIA 61,125
(2) TEZFIA 0
(3) ZDith 1,508
a &t 62, 633
3 ) I EAY =) i b 163, 185
b/ a (%) 14.71%
E o a%l ) _.%iﬁ ® A = h) & :|= 3 |c~ 046, 199
[(EENEA]
1. RBEEAR
(1) HHENIEEE (BF - WRE) 92,419
(2) ZDith 0
8 & 92,419
2. T0hih
(1) KEREDULEEERE 0
(2) EERKRFTHE 0
(3) ZDith 0
& &t 0
#® ® vAS g 53] a H 92,419
[BENIREE]
1. MEREEHEEBEFRA
(1) BREXHE EEEEGHDSE) 0
(2) [ HEHFESE]ITROFN2EE (BFE - HRE) 0
(3) ZDith 0
& &t 0
2. i
(1) KEEEYLEELINE 0
(2) BEFRHANE 0
(3) ZDith 0
a &t 0
3 s VAS IR % =) A 0
C( = . 5 )( fali | 7 EE - . 3 )|~ 1 038, 618




